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69 — 58 = 11.9 Bg/m°N
4 #3?13“:%&%%699%[%%3& BRUNEEHEINDETHE EETOHHREEIL
119 x (1—099)= 0.12 Bag/m°N
5 HEHRIMIBEE TII%RESNT-TEYE R EECATRESNGETSE,
BEEM kgL =YDHEEKEN048LTHINIE. BRKTOHIKEE L.
69 X (1-099) — 048 = 1.4 Bg/L




PRBGEN ZEH D= DFHE X

Go=0. 89H,/1000+1. 65

Ao=1.01H,/1000+0. 5

G:EBRIEH R E (m*N/ke)
Go: BERIRIES X 2 (m°N/kg)
m: 2R 1.4
Ao IBHRZES 8 (m°N/ke)
Ho BB R ZAE (keal/kg)

G=Go + (m-1) Ao
1R ED IR LI FE ER S (keal /kg)
BEHY 2 xS YA EHE
K 3,000 R=7-&tR-1bLFEthR 5,000
ERBF-R—F 4,500 ] 4,000
i PN 3,800 EET L 8,300
f ¥E 5,300 & 8,300
El 1t ik 6,800 —RARHETT 4,200
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B%ﬁ% /g’%ﬂﬁk 40.0 05 0.4 1.6 0.3 21.2
m%ﬂjﬂﬁk 93.5 1.2 0.9 3.7 0.7
ﬁ:ﬁi ) 3,000 4,000 3,800 4,200 3,000
BTk 1kedo <Y
DHHRE 5.36 0.08 0.06 0.27 0.04 5.8 Nm3/kg
(m°N/kg)
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Fgﬁ% /g,%ﬂm 27.0 0.1 0.4 0.9 0.2 28.0
EWE%M 94.4 0.3 1.4 3.1 0.7
(ffjﬁi ) 3,000 4,000 3,800 4,200 3,000
T kedo 1=V
DHHRAE 5.41 0.02 0.09 0.23 0.04 5.8 m°N/ke
(m°N/kg)




